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Ubungsblatt: Was ist die Halfte von ... (bis 20)

Halbieren

+ 14 — s 10 —» 6 6 —

12 - s. 20 - 9, 8 —

010 - 1.8 — 12. 4 =

314 - 1% 6 — 1516 —

w6 4 - 1710 — 1. 18 —

19.10 - 0.2 = 2716 =

218 — 3.8 — w14 —

5.20 — w6 4 - 7. 4 —

.10 — 9. 4 = 3014 —

3.6 —> 3218 — 3318 —
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Ubungsblatt: Was ist die Hélfte von ... (bis 20) | ANTWORTEN * %

Halbieren

;12 > 6 s 20 » 10 9, 8 > 4

010 — 5 18 = 4 4 > 2

=14 —» T s 6 > 3 516 > 8

o 4 - 2 1210 - 5 .18 > 9

910 — 5 0 2 - 1 06 3

» 18 = 9 3.8 > 4 w14 — T

520 —» 10 w G4 > 2 v 4 > 2

%10 = .5 w9 4 > 2 014 - 1

6 > 3 218 - 92 3.18 - 9
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